N 2 0l & AF S B A A
20085 & £ 2 3 Lets|H IIEFSE S|
AP
Mo SHO| J|E - R (YVTTUH/YUUE)

ol JlE - XIS 23 (B9 &)
SA-FH - SA(SAH) - MREAY - BES Off &F K I8N Hws2
SJEEN 179,041,117 174,192,553 4,848,564

2 605,000 500,000 105,000

< 178,436, 117 173,602,553 4,743,564

SHO J|8 - RN (LBBTUT/LBIHE) 4,203,597 3,729,507 474,000
e - ZEIIS 28l 4,109,929 3,635,929 474,000
SEARMSS L Boi#E T HHUF (S 458,160 38, 160 420,000
201 Yereg| 453,200 33,200 420,000

02 ZZ=ZHl 450,000 30,000 420,000
ONABHLHEHAM AT 223 50,000 30,000 20,000
OSHARA ANTXAEAS 22 400,000 0 400,000
2N X 154,000 100,000 54,000
307 QI2t0IF 154,000 100,000 54,000
02 SIRABARE 154,000 100,000 54,000
oAz X 154,000 100,000 54,000
DIHOI Y 2 2SS (DS/ROILESSLS) 163,045,240 158,928, 040 4,117,200
= 605,000 500,000 105,000

= 162,440,240 158,428, 040 4,012,200

TSN - ASEAMH 75 144,141,080 145,266,880 A 1,125,800
=) 605,000 500,000 105,000

= 143,536,080 144,766,880 1,230,800

DSYW WIS s nSSBY N 140,552,405 141,783,205 1,230,800
703 DSHSHIHNTEZ 140,551,445 141,782,245 1,230,800
0 WSHSHIAHIES 140,551,445 141,782,245 1,230,800
ON|HISHIHTES 133,505,850 134,736,650 1,230,800
OXNZDSAl 120,404,017 119,104,017 1,300,000

OZAl 3,101,833 15,632,633 2,530,800
RSN KRN (=2) 806,080 701,080 105,000
= 605,000 500,000 105,000

= 201,080 201,080 0

307 ©I2H0IF 805,000 700,000 105,000
= 605,000 500,000 105,000

= 200,000 200,000 0

02 SIRAFARE 805,000 700,000 105,000
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AR R =

A 0ol YRR (LS/ROILESSDS)

Crol QIR A - DRESN 2= (crelae

SN HE - SR(SH) - MBAY - BAS 0l & 24 p[E-Ll HlnE2
OXDAXMIAMNE A 805,000 700,000 105,000
s 605,000 500,000 105,000
= 200,000 200,000 0
s sy 5,377,160 4,527,160 850,000
Z2AE KNHA 1,700,000 850,000 850,000
402 BIFXE0 1,700,000 850,000 850,000
01 GIZ2tXt 1,700,000 850,000 850,000
Oz A2 WAL AN 1,700,000 850,000 850,000
M= PN == =l 13,527,000 9,134,000 4,393,000
SIgmME=PNE A=, 4,533,341 90,000 4,443,341
308 KEXIE 4,533,341 90,000 4,443,341
01 XEXI&t 4,461,341 0 4,461,341
(©F1gmE= 4,437,498 0 4,437,498
os=g 23,843 0 23,843
02 &= 72,000 90,000 A 18,000
O&d+1 72,000 90,000 218,000
ol gl Bl 8,993,659 9,044,000 250,341
801 OlldIbl 8,993,659 9,044,000 A50,341
01 oldldl 8,993,659 9,044,000 250,341
O ulblbl 8,993,659 9,044,000 A50,341
ARE HH 3,355,049 3,446,749 291,700
NME&E, & 3,355,049 3,446,749 A91,700
FCIXRl 22 249,768 331,268 A 81,500
201 LBt 59,134 118,634 A 59,500
03 A2 0 59,500 259,500
OUistel 0 59,500 A 59,500
301 LBt a 16,710 38,710 222,000
12 J|EtE 6,400 28,400 A22,000
OZ3AE 6,400 28,400 222,000
e 2L 40,030 50,230 A 10,200
301 Pt A 15,300 25,500 A 10,200
10 HALA 15,000 25,200 A 10,200
OAAZE 0 3,000 A 3,000
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